IREAFZRELAN) REEBHESE SGRHLBHTF) Ik ERR

DT OEFMIERD DD F L. BHEILTETIEWLELET.

o pA0  FEEr F2 e 44TH =275 x 42+ 61 x (—9) &Ko TV T3,
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e 44 FEER =AIOMNIEFOHADHTT, EhH 31TH
a+b>c, b+c>a, c+a>Db
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a+b>c, b+c>a, c+a>b e ()
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B 3r 9
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e p.63 QFXUcOWVT, flz)=(r—2)(z —3)Q2(x) + (z +7) WETIEVWLET.

e p.65 #6—[11|DEFH RO XS WFTEVELET.
- DOB, 123 I h/hxn
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DI9fEE 789 X hRKEFW
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D 8 %RV
504 — (9 + 8) = 487
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e p.83 MEHLOHFOBYFEDOHMOAN 2 =a ERoTVETH, 2=a+11TF
EWLET. £/hdbbET, ZOEDa<3WVWI RXE a+1<3IE[EWVWRL
£79. [ELLIE,

{a +1<3,
f3)=(a—1)(a—6)20.
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e p87 KB EHB9FFH 2-y=32(>0) £BoTVWETH, 2V =232 (> 0)
CETIEWRE LET.
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REHRFAETIEWZLET.
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